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Higher Modern Studies Exam Paper 1
SECTION 1:

1b

The Alterative Member System is the most effective electoral system to provide fair
representation. This is because AMS provides local constituencies that provide fair
representation of a geographical location elected under the candidate of the most
votes wins. it also provides larger regional areas which are elected using a PR
system which ensures voters can choose a local candidate and a larger party at the
national level. it also automatically corrects to ensure fair spread of representation so
that parties with more seats at a constituency level win less at the regional so that
smaller parties gain better representation ensuring votes are more aligned to their
aciual count. An example of this is the Scottish Parliament electicn in 2021 in which
the Scottish Greens got 8% of the vote and eight seats roughly aligning them with
the national vote count in terms of seats.

Other electoral systems are not as effective as AMS as for example first past the
post when compared to AMS it yields much less proportional seats. This is because
often candidates do not an actual majority to win seats which skews results favouring
larger parties. This is often highlighted as parties overall nationaily in the UK do not
get over 50% of the vote but yet still often form majority governments. The last time a
government won 50% of the vote was in the 1950s. An example of this downcast
compared to AMS is the 2019 UK General Election in which the Conservatives won
45% of the vote but won a majority of 80 seats. This shows that AMS is a more
effective electoral system to provide fair representation.

Another example that shows AMS is the most able system is that when compared to
example the single transferrable vote, it still again yields better results. This is
because while STV may make a constituency vote more equal it does not equate to
the national level showing that it is less effective. For example, if a party wins in
several constituencies via preferential voting it may not equal the number of actual
votes they represent nationally which provides less fair representation that AMS
showing that again AMS is the most effective electoral system in providing fair
representation,

SECTION 2
2c

In the United Kingdom, we live is a mixed society of individualism and collectivism. it
is often noted with the creation of the modern welfare state under the 1845-1951
Labour government that they built a system that would carry people from the ‘cradle
to the grave’ under the guise of the Beveridge report building a more collective
society. Since the Conservative victory in 1979 Britain has embarked on a more
individualistic approach with deregulation and encouragement of the individual to
take responsibility leaving behind the notion cradle to grave as it the personality
reascnability of an individual to take care of their own needs rather than the state
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intervening on their behalf. This essay shall argue that collectivism and not
individualism is the best approach to dealing with social inequality. This essay shall
discuss the following factors of education, housing, healthcare, transport, and public
utilities.

One the factors of that make collectivism the best approach to dealing with social
inequality is collective education. In the United Kingdom we have a public education
system which is free for all children between the ages of 5 and 18 as to provide them
with the necessary tools to succeed in life. This means that no matter wealth or
status anyone can receive a decent education that can allow them to get higher paid
jobs or become more skilled workers. If it was not for collective public education then
many people would have to rely on private educational facilities that cost direct
money, often more money than many can afford. The individualistic approach to
education would lead to many families being unable to send their children to school
simply due to lack of funds leading to greater social inequality as impoverished
children would be greatly disadvantaged. Overall, it can be shown that collective
approach to education is the most beneficial in dealing with social inequality. This is
simply due to the fact not providing education for all that is free of access will
disadvantage children on the basis of their wealth due to the cost of private
education. Ensuring that all children have access to such services limits this and
ensures that all children are given the same opportunities. This proves that the
collective approach is the best ay to deal with social inequality.

A second factor is housing. Collective approaches to housing make it so that every
household has access to cheap and affordable social housing. This social housing or
as called in the UK, Council Housing is the most effective way of dealing with social
inequality because it ensures that housing is affordabie. Individualists may argue that
it does not allow people to become home owners limiting them to being stuck renting
hence why the Conservative government of the 1980s brought in ‘right to buy’ which
allow households to by their council house. However, this has had adverse effects
which has depleted the housing stock of social housing meaning the families who
relied on social housing due to the cost of private renting or hame buying have
become stuck leaving them in greater poverty that they could have been. This is why
a collective system of government built social housing would be the most effective
way of ensuring nobody goes homeless or unable to afford rent minimising social
inequality. Overall, it can be argued that the collective approach is the most effective
way to combat social inequality as providing universal social housing would minimise
the effects of overpriced renting or the high cost of getting on the property ladder that
would otherwise be there under the more individualistic approach as shown through
policies enacted by previcus governments.

A third factor is healthcare. The collective approach to healthcare in combating social
inequality is the one of the most important effective ways. In the UK we have a
Nationai Health Service which provides free access at the point of use healthcare to
any UK citizen who requires it meaning that nobody has to pay to see a doctor if they
don't want to. This is beneficial as often private healthcare can be more expensive
as under an individualistic approach would see only private healthcare used. ltis
more expensive simply because they are ran as businesses and need to make a
prefit. This can cause people who cannot afford healthcare to go without meaning
that those who were in lower income brackets couldn’t receive healthcare. This
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would widen the social inequality gap and nct close it. Under the more collective
approach systems like the NHS would take up the slack and allow those no matter
wealth nor creed to receive free healthcare when required. Overall, it can be argued
again that the collective approach is the best way in dealing with social inequality as
collectivist healthcare allows for anyone to access heaithcare whenever they need
without extensive cost that is often seen with private healthcare. This proves that
collectivism is the most effective way of dealing with social inequality.

A fourth factor is transport. Collectivist methods of dealing with transport may seem
out of the box when dealing with social inequality but it is an important way of dealing
with such inequalities. This is because collectivist methods propose largescale public
transit and is affordable for all people to get about. This is opposed to the more
traditional idea of the individual owning cars and driving everywhere. The reason
why public transit is more effective is that cars are often far too expensive for many
households living with low income or below poverty line meaning it is often out of
reach. This can be problematic as people in this situation often need to go places for
work but it becomes impossible to do so. This is why having affordable public transit
allows people who would not normally be able to afford such luxuries to go from A to
B without damaging their pocket so far as to prevent them accessing other things
including food and heat. This combats social inequality as it allows less affiluent
households better access to places that would not be possible without expensive
private ownership of things such as cars. Gverall, it can be argued that again that
collectivist approach is the most effective way in with social inequality as collectivist
models for transport allow for better access to all people rather than those who can
just afford to buy a car.

The final factor is public utilities. Collectivist approaches to dealing with utilities is
often more effective than the individualist approach. Why? It is because often public
utilities under individualist systems are private enterprises which charge for profit and
raise prices depending on how much they get away with. This causes problems as
they often raise prices out of the range that people can afford worsening social
inequalities. An example would be the price increases following the COVID-19
pandemic and Brexit which have increased the cost of gas making electricity prices
skyrocket and put people into more poverty. The collectivist approach would make it
so that pubtic utilities are publicly owned often by the government and funded by
taxes. This means that under this system peaple would not be charged for using
electricity, water, heat, etc. This would make it more affordable as people would not
have pay as much in bills lessening the costs as these companies would no longer
charge for profit and instead be funded through taxes. Overall, it can be argued that
again that collectivist approach is the most effective way in with social inequality as
collectivist models for public utilities are the best way for dealing with social
inequality as they can reduce bills meaning people have to pay less overall meaning
that social inequalities are minimised.

In conclusion, collectivism and not individualism is best approach to deal with social
inequality. This is because education is better under a collectivist system as it allows
for ali children to have easy access {o schools without having to pay extra that they
would under individualistic approaches lessening social inequality. Housing as well is
best under a collectivist system as it means that housing is more affordable for all
preventing people being unable to afford their house that they would otherwise be.
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Healthcare is also better that the collectivist system as it means that people can
access healthcare when they rather having to pay to see a doctor that for most
people would be out of their price range reducing impact of social inequalities related
to health by minimising the need for wealth to have good healthcare. Transport as
well is an important factor because it allows for people to go places they would not
otherwise be able to afford to go allowing for people opportunities reducing social
inequality. Finally, public utilities would be more functional under this system as the
cost of bills would decrease as it would no longer be ran for profit reducing costs and
strains of those in poverty reducing the impact of social inequality. Overall, it can be
concluded that collectivism is the most effective way of dealing with social inequality.

SECTION 3.
3a

The United States is a country founded on the principle of liberty, freedom, and
democracy. Citizens of the United States have access to take part in their
democratic system to influence change although it is often limited due to many
different factors. This essay shall argue that there are not many opportunities for
citizens to successfully influence government decision making. This essay shall
discuss the following factors of voting in elections, protesting, and campaign
donations.

In the United States, every citizen of the age of eighteen may register to vote in all
forms of US elections from federal to state to local county elections. This is
guaranteed by the first amendment to the US constitution and others which ensure
no citizen cannot vote unless in prison. This allows for US citizens to influence
elections by voting for candidates that appeal to their viewpoint on any issue that is
important to them, However, this is often hard to do as often the choice of candidates
when voting in elections is often limited as it is usually a cheoice between democrats
or republicans. This limits people influence no matter the outcome many people wili
still be subjected to the same political party candidates meaning there is little
alterative choice. Overall, this shows voting is less effective of influencing
government decision making as they cannot choose between candidates that
actually represent them. This shows that there are limited opportunities for citizens to
successfully influence government decision making.

Another right guaranteed by the first amendment is the right to protest. In the US, all
citizens have the right petition their government by peacefully assembling or
protesting. This allows for citizens to put pressure on the government to change their
palicies. An example would be the BLM protests of 2020 in which protestors
demanded change relating to the police putting pressure on local, state, and federal
government, However, this is not as effective as often government ignores such
protestors. An example would be that the federal government often ignores demands
to limit abortion by ‘pro-life’ protestors. This shows that protesting is now always
effective in changing government decision making. Overall, this proves there are
limited opportunities for citizens to successfully influence government decision
making as protesting often does not influence changes to government policies with
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examples even showing the US government even puts down protestors such as
during the 2020 BLM protests, federal troops and police often arrested protestors
and fired rubber bullets at them.

Ancther way US citizens can influence government decision making is by donating to
a political campaign or candidate. This can help to influence decision making as by
donating they can help that candidate gain funds to spend on advertising and
outreach making their change of being elected more likely or helping a party win
moere likely. An example of this is that during the 2020 demacratic presidential
primaries Bernie Sanders go individual citizens to donate campaign contributions
with the largest campaign fund possible from this. However, this is not always as
effective as often Super PACs donate to candidates which can donate more than the
average American can afford. These PACs often swing candidates to support certain
issues over another swinging the influence away from citizens preventing them from
often successfully influencing government decision making. Overall, there are limited
opportunities for citizens to successfully influence government decision making as
often US citizens cannot afford to donate as much as large PACs which are more
likely to influence government decision making.

In conclusion, there are limited opportunities for citizens to successfully influence
government decision making. This is because while US citizens have the right to
vote, it is often supressed by limited voting options limiting their ability to influence
government decision making. As well while US citizens can protest their government
to get them to change policies, it is often ignored and supressed by the police limiting
the influence of protesting and overall their ability to influence government decision
making. Finally, US citizens can donate to political campaigns, however, it is often
overshowed by the fact large corporations under super PACs can infiuence
candidates more by simply donating more limiting the influence. Overall, it can be
concluded that there are limited opportunities for citizens to successfully influence
government decision making for citizens of the United States.
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